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QI: Choose the correct answer in the following
(1') The slope of the graph of the function y=(x-2)(x* +1)" at (0,2)1s

-1
(@) 1 (b) L g) —— ey =1
) 3 (©) 1 ‘
(I mark
55 Tl dts i et i Jx-1 .
2) The derivative of the function b Is
\/; +1
(a) : (b) —== ) : (d) —=——s
T YR () =7 ¢ 2
Jx(Jx +1) (Vx -1)? Yx(x-1)? (Vx +1)?
(Imark’
(3 ) The derivative of the function  y = x? sinx cosx is
(a) 2sinxcosx + x? cos’x -x? sin’x (b) 2xsinxcosx + x° cos’x - X2 sin’x
(¢) 2xsinx cosx +cos’x - sin’x (d) 2xsinxcosx — x* cos’x + x? sin’x
(Imark)
(4 ) The derivative of the function y=+4+xsecx is
X secX lanx + secex X SCCX tanx + secx
(@) (b) ~
A il d b % aeroe 2(d+x seex)
1
(¢) —————— (d) X seex tanx + secx
_ 2 4 + X seex
| g __(Imark)
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Q2: Find & Where y= (csex+ cotx)( ¢scx - cotxX)
(2marks)
B dy 3
Q3: Find —\:— where V= C0S (tane* )
ax
(2marks)
. dy P x* 3.0
Q4:Find — where Y= \E e’" " +cseTX
dx
(2Zmarks
2
= = dv COsX
£ i kg —— wiepE - Y=
X sinx + 1

Y

(2marks)
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Q1: Choose the COTTect answer in the following
(1) The greph of the function y=(2x +1)* is decreasing on e
10§ -1
fl 7
(c) ;\T,ﬂ’ @ @) (~0-2)
(1.5mark)
(2) There is a local minimum of the function which has the derivative y' = x(x-1)at
(@) 1 @ o ) -1 (d) non
e -
(1mark)

(3) The derivative of the function  y =(sin 4x)°* with respect to X s

-

-
r

(cin 4:-:]” (4x cot 4x +In (sin 4x)) () 3 (sin 4x)3x (4x cos 4x + In (sin 4x))

@ 3 (s
(d) 3 (sin4x)** (dx cot 4x +1n (cos 4x))

(© 3 (sin 4:()3“ (cot 4x + 4xIn (sin 4x))
(1.5mark)

-

y=In(tan” (2::4 )) with respecttox is

st ~ - 8 3
(a) = (b)) ———
(tan™ {7\ \) (I+4x%)
8x° —8x°
) —————s
(tan® (2x7)) (1+4x°)

(CJ = | F. ] 2
(tan™" (2x7)) (I +4x%)
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; dy ” C
Q2: Find ;’x}_ where y=elan IJ:(2+1

LR O, ¢ 11 |1 1) O
sy
Q3:Find * XX where y = cos ' 2x+ sin "' .,
dx x?
(2marks) ___
: dy g
Q4:Find — where Y=X
dx - -
e -
(2marks)
. . Ko gt 1
Q5: : Identify the intervals on which the function y = T-—2~-2x+3-
is concave up and concave down
Rl T
v - __(2marks)
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